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I ndian Army Clerk sample paper

COMMON ENTRANCE EXAMINATION FOR SOLDIER CLERK

TIME-1HR. |

QUESTIONS - 50

ALL QUESTIONS ARE COMPULSORY AND CARRY EQUAL MARKS

Who was the founder of the French
East India Company?

W $3¢ a1 HU BT TRITUS DI UT?
a. Dumas/gHAN

b. Colbert / ®asc

c. Duplex / gwigd
d.

De La Haye / S @ g/

Delhi became the capital of India in
et yrRa &Y werurh w9 s+

a. 1910

b. 1931
c. 1916
d. 1923

07.

Which is the most fertile soil among the
following

7 & 1 A fredt 9 Iues 7 2

a. Black Soil / &t forg

b. Red Soil / & fiygt

c. Laterite Soil / guct forgt
d. Alluvial Soil / Sidre firgt

Which State has the largest coast line
FETA$9 A Tsa d Je) gST g a¢ 82
Gujarat / ToRTd

Tamil Nadu / affrerrg
Karnataka / ®4fc®

Andhra Pradesh / 3y e

oo o

Which of the following is the banker
of the banks

e % A 9l SH FT g S B R

a. IDBI

b. SBI

c. RBI

06.

08.

09.

d. PNB

Which of the following is the largest

public sector organization in India?

YR H T 93T UfR1eh Adex RHTSORM B

a2

a. Bharat petroleum / 4Rd Uciferad

b. Steel Authority of India / ¥ U<t 3w
sfean

c. Indian Oil Corporation / 37 3rad
BRI

d. Qil and Natural Gas Corporation / 30d Us
TRA T HRURTA

Chief Minister of a state is responsible to
it T5a & gerEl @t waTe 38 FEl idl 32
a. Governor / Isg4rd

b. Legislative Assembly / faur Fu1

c. Prime Minister / gum it

d. Rajya Sabha / IsggHT

The executive authority of the union is
vested in the constitution by the

it O &1 FrieRY sifier Afau | fa
fafea g

Prime Minister / T w1

President / Jrgufa

Cabinet / HifFHsa

Union Legislature / ¥ faurmdsd

oo o

Who is the first woman space tourist?
uglt Afgen siafver anht &1+ §2

a. Sunita Williams / g-itar faferrsg

b. Naina Amari / 54T 3R}

c. Anousheh Ansari / 3R SR

d. Sunita Narayan / =il TR0

Download More @ www.40no.com


http://www.4ono.com/

4ono.com

4ono.com 4ono.com 4ono.com 4ono.com

10. Which of the following test helps in
diagnosis of cancer?
FER T & ITAR | I A1 ¥ IR Heg
FHIATR?
a. X-ray /T
b. Urine test / 7z tRigor
c. Blood test / o udiam
d. Biopsy test / STATGH TRte&or

Directions (Q.No. 11-15) Some parts of the
sentence have errors and some are correct.
Find out which part of the sentence has an
error corresponding to the appropriate letter
(@), (b) and (c). If a sentence is free from
error, marks the answer (d).

11. A large sign near (a)/ the entrance warns
the visitors (b)/ to beware about bears
(c)/ No error (d)

12. I told him (a)/ that 1 availed (b) / the
opportunity (c)/ No error (d)

13. It is time (a)/ we should have done (b)/
something useful (c)/ No error (d)

14. 1 think (a)/ he owns an expensive (b)/
painting by Hussain (c)/ No error (d)

15. He will tell you (a)/ about it when (b)/
he will come back (c) No error (d)

Directions (Q.No. 16-20) In the question,
sentences are given with blanks to be filled in with
an appropriate words(s). Four alternatives are
suggested for each question. Choose the correct
alternative out of the four.

16. For a child, a blow ............ self-
esteem is a terrible thing
a. with
b. to
c. on
d. of

4ono.com

4ono.com 4ono.com 4ono.com 4ono.com

17. It is our duty to get .......... the truth
a. to

b. over

c. into

d. at

18. He told me that he ............
watching the movie

is finished

was finished

had finished
not finished

o o o

19.1do my work ............ carefully
to make mistakes
a. so
b. very
c. too
d. more

20. He is very good ............ making
stories
a. in

b. about

c. at

d. For

Directions (Q.No. 21 - 25) In these questions,

out of the four alternatives, choose the one

which best expresses the meaning of the given
word.

21. Request
a. Ask
b. Please
c. Suggest
d. Offer

22. Foreboding
a. Alarm
b. Forecast
c. Failure
d. Foresight
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23. Change
a. Alter
b. Renew
c. Review
d. Repeat

24. Genuine
a. Good

Real

b.
c. Attractive
d. Lovable

25. Acquaint
a. Arouse
b. Introduce
c. Appoint
d. Acquire

Directions (Q.No. 26 - 30) In each sentence
give below, one word has been printed in
bold. Below the sentence, four words are
suggested one of which can replace the word
printed in bold without changing the meaning
of the sentence. Find out the appropriate
word in each case.

26. In a hole below a mango tree, a snake
was
a. halting
b. stopping
c. living
d. sitting

27. Itwas a attempt on her part to
appear in the examination
a. fruitful
b. unjustified
c. future
d. futile

28. He is going to
a. ruin
b. spoil

you

4ono.com

29.

30.

31.

32.

33.
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c. dust
d. hit

He was
work well
a. doubtful
b. careful
C. sure
d. upset

that his plan would

This is
a. wrong
b. accurate
c. exact

d. appropriate

time to eat food

The numbersx, x + 2, x + 4 are all
prime, so x is
X, X+2, x+4 U AT ¢, dl x BT A T

BIm?

ae op
P N W
H

-
\'

8/1000 + 7/100 + 5/10 =7
a. 0.0578

b. 0.875

c. 0.578

d. 0.0875

The least number which must be
subtracted from 2361 to make it a
perfect square, is

9 ¥ 3 95 93 BId Sen o 41 3, o
2361 ¥ g™ WR TP YU 9 g9 g2

a. 48

b. 57
c. 88
d. 40
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34. The average of 20 values is 18. If 3 is
subtracted from each of the value, then
the new average will be
e fp=g fi 3iep! &7 3 3¢ B SRR SR A
BH g% 3% A 3 eTd 8, O AT 3! BT i Fm
ghm?

a. 21
b. 15
c. 16
d. 17

35.1f3:5::60:x. The value of X is
fg3:5::60: x, A x* BT A FdT NI 2
a. 100
a. 36
b. 4

c. None of these / 378 I I o1
36. What percentage is 390 g of 1 kg 500 g?
1 kg 500 g T 390 g fora=T wfer=ra ghm 2
a. 26%

b. 20 %
c. 25%
d 22%
37. By selling a cycle for Rs.330, a man

gains 10%. What is the cost price of

the cycle?

ot sufag A uep Ogfra 330 Fum H S=Rt ar

3 10 % BT ATH g3, A I 98 Asfed foaq o
LCRIr

a. Rs 200

b. Rs 300

c. Rs400

d. Rs500

4ono.com
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The simple interest on a certain sum

for 5 years at 8% per annum is Rs.20 less
than the simple interest on the same

sum for 3 years and 4 months at 18 % per
annum. What is the sum is?

Pt RN R MR ¢y Afa adf Fr R Ay AA &
oI smer T IR |t 9% AR Q0 $UY HH Fhft aRR
I 4 TR WR 3 e SR ¥ 7 F g ¢¢ wfawa
wfd adf &Y g & ST AT 9. 9 98 U= IR
foraeit 32

a. 90

b. 200

c. 100

None of these / 378 ¥ &5 Tal

e

A and B can do a job in 2 days. If A
alone can do the same job in 6 days.

How many days will be taken by B to

do the job alone?
AdRBfFfieme 2fAA R IPA e afe A
BT I8 BT HIA | 6 T A1 3, A B B 39
BT B b B A fora=T F9g TRm?

a. ldays/u®faa

b. 2days/afeA

c. 3day/dHfeA

d. 4days/daRfeA

The length of a tunnel, which a train 90
m long, travelling at 48 km/h, can

crossin 21s is

9 G B} dars 71 gift, o U Qo e 9t
e ¥¢ km/hr B TFT A 32 THS B UR Bl § 2
a. 180m

b. 280 m

c. 190m

d 290m
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41. Which of the following are parts
of the CPU
9 A B CPU & HIRT &2
a. ALU
b. Memory
c. CU
d. Both ‘a’ and ‘c’/ ‘a’ 3R ‘¢’ g
42. What are the units used to count the
speed of a printer?
fifex 31 71fa Y 71U FY sHTE AT /2
a. CPM
b. DPI
c. PPM
d. BIT
43. What is the other name for a LAN
Card?
LAN PTS HT gORT A1 FIT 872
NIC
Network Connector

MODEM
Internet Card

o o o

44. A floppy disk rotates at
wardt e far aifer & vt 82
a. 1000 rpm
b. 100 rpm
c. 2000 rpm
d. 360 rpm

45. A group of 4 bits is called
4 f3e &1 9Yg T HEar 82
a. bit

byte

nibble

None of these

oo o
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46. Memory variables are temporary
storage place for pieces of
AR dveaed fore 9 &1 oIl weiwr
g
a. Information
b. Database
c. RAM
d. None of these

47. A computer’s main memory is called
YR P A AR I 7T Hed 82
a. database
b. computer memory
c. RAM
d. ROM

48. RAM is used as small memory since

RAM &1 THTA AAIY @1 g S¥adTd foean
e R a8 ... ad 2

. Volatile

very costly

of low capacity

None of these

oo o

49. Which of the following does not
represent 1/0O device?
SR A DA I/O fEarsa 7 22
a. Speaker which beeps

b. Plotter

c. Joystick

d. ALU

50. Storage of 1kb means which of the
following number of bytes?
TP kb H fFaq byte B1A 82
a. 1000
b. 964
c. 1024
d. 1064
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Answer key

1. (b) v 2. (b) v 3. (d) v 4. () v 5. (¢) v 6. (d) v 7. (b) 8. (b) v 9. (¢) v 10. (d) v 11. (c) v 12. (b)
v 13. (b) v 14. (d) v 15. (¢) v 16. (d) v 17. (d) v 18. (c) v 19. (¢) v 20. (¢) v/ 21. (a) v/ 22. (a) V' 23.
() v 24. (b) v 25. (b) v 26. () v 27. (d) v 28. (a) v 29. (c) v 30. (d) v 31. (a) v 32. (c)  33. (b)
34. (b) v 35. (a) v/ 36. (3) v 37. (b) v 38. () v 39. (c) v 40. () v 41. (d) v 42. () v 43. (a) v 44. (d)

v 45.(C)  46. () v 47. (c) v 48. (¢) v 49. (d) v 50. ()
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